—wjazd
0+024,20-wjazdy Wayr=0,31
S
zjazd typu “tédka” 119,53
| 119,425 | 119,42° ]
1op7° 119,4?y 11o]ag 1048 [ 11363
K’L 1,0% \V/
— 13
— — 5 ==
| |
rzedne terenu 119,47 119,30 119,37 119,38 119,63
odlegtosci 9,85 -2,75 0,00 +2,75 +4,25
|
0+035,50~wjazd Wwyr=0,11
119,32 | 119,325 |
| 5 5
Vom Gony” Gl
T
— N |
I I
rzgdne terenu |119,55 119,26 119,31 119,27 119,49
odlegtosci -5.85 -2,75 0,00 +2,75 +4,25
|
|
0+044,90+wjazdy Wwyr=0,28
I 119,35°
zjazd typu “tédka 119.24 119,24 |
|
11928 119,2%SZ 119,29° 119,26 119,32
K’L 0,85% \V/
f
23 —
I | I
rzedne terenu |119,28 119,12 119,21 119,17 119,32
odleglosci -3.25 -2,75 0,00 +2,75 +4,25
|
| .
0+056,10~wjazdy Wwyr=0,00
0;95 2‘00 5
I——s-| 119,21
119,107 I 119,10 |
I
llwlas 19lte z\119’125 119,25
V/i
— — 10—
I I
rzgdne terenu |119,31 119,07 119,11 119,09 119,25
odlegtosci —5.85 -2,75 0,00 +2,75 +4,25
|




